cos((P/2)*tgx) = sin((P/2)*ctgx)
sin((P/2)*ctgx)=sin(P/2 - (P/2)*tgx)

sin((P/2)*ctgx)-sin(P/2 - (P/2)*tgx) =0
2cos| ((P/2)*ctgx + P/2 - (P/2)*tgx) / 2 ]*
sin[ ((P/2)*ctgx - P/2 + (P/2)*tgx) / 2 1=0

1)cos[ ((P/2)*ctgx + P/2 - (P/2)*tgx) / 2 1=0
((P/2)*ctgx + P/2 - (P/2)*tgx) / 2 = P/2 + Pk

((P)*ctgx + P- (P)*tgx) = 2P + 4Pk
P(ctgx-tgx) =P + 4Pk

ctgx-tgx =1 + 4k
cosx/sinx-sinx/cosx =1 + 4Kk
(cos”2 x - sin?2 x) / sinxcosx = 1+4k
cos2x / (sin2x/2) = 1+4Kk

cos2x / sin2x = (1+4k) / 2

ctg 2x = (1+4k) / 2

2x = arcctg (1+4k) /2 + Pm

x=%2* arcctg (1+4k) / 2 + Pm/2
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k=0 P/8 + Pm/2

sin[ ((P/2)*ctgx - P/2 + (P/2)*tgx) / 2 1=0
((P12)*ctgx - PI2 + (P/2)*tgx) / 2 = Pk

(P/2)*ctgx - P/2 + (P/2)*tgx = 2Pk
ctgx - 1 + tgx = 4k
ctgx + tgx =4k + 1

(sin2 x + cos” 2 x) / sinxcosx = 4k+1

2/sin2x = 4k+1

sin2x=2/(4k+1)
2x=arcsin[2/(4k+1)] + 2Pm
x=%2* arcsin[2/(4k+1)] + Pm
2x=P - arcsin[2/(4k+1)] + 2Pm
x=P/2 - /2 arcsin[2/(4k+1)] + Pm

12/(4k+1)|<=1

|2/(4k+1)|<=1

2/(4k+1)<=1 /—\
2/(4k+1)>=-1
(2 - 4k - 1)/(4k+1)<=0 7/ *\' \// /

(1 - 4K)/(4k+1)<=0
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(2+4k+1)/(4k+1)>=0 % %\/

OTBET:

x=Y%2" arcctg (1+4k) / 2 + Pm/2, k noboe

x=72 * arcsin[2/(4k+1)] + Pm, x=P/2 - 2 arcsin[2/(4k+1)] + Pm k!=0, k - uenoe
m noboe



